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Annexure — 1

MATHEMATICS ACHIEVEMENT TEST
CLASS VIH

Roll Number: Section:

Name of Student;
Name of School;

Max. Marks: S50 Time:

2 Hours,

INSTRUCTIONS:
1] All questions are compulsory.
2] Draw figures where necessary.

Q. 1 Fill in the blanks:
1) The number of axes of symmetry of isosceles triangle =
(One, Two, Three, Four)
2} Rational and irrational numbers gives
(Natural, Whole, Real, Integers)
3) Diameter of circle is twice that of
(Cﬁcumference Area of circle, Radius, Secant)
4) x*+ 5x +6 is called
(Monomial, Binomzal, Tnnomlal, Equation)

Q.2 State whether the following statements are TRUE or FALSE:

1) The cube of an even number is even.

2) The product of odd and even number is odd number.

3) Each positive rational number has two square roots.

4} 1If a line divides two sides of a triangle proportionally, then it is parallel
to the third side.

Q.3 Write formulae:
1} Area of right angled triangle.
2) Asea of Trapezium,
3} Area of circle.

Q.4 Match the pair: -
A B
a) Area of sector of circle (i) (Side)®

b) Area of square (ii{;)(;l X
6 O

¢) Length of an arc (i) (Side)?

d) Volume of cube @iv) | © X
360°

@

(2)

)

(4)



Q.5 Define the following:
1) Circle 2) Chord  3)Radius  4) Tangent

Q.6 Express in the form of indices:
1] Fifth root of the square of 64.
2] Cube of the cube root of 3.
3] Fourth root of 16.

Q.7 Find the two numbers such that their sum is 9 and product is 18

Q.8 If the circumference of circular ground is 88m.Find its radius and its area.

Q.9 Find the length of the hypotenuse of a right angled triangle,
if the lengths of the sides containing the right angle are Som. and 12¢m.

Q.10 The length of an arc is, 50cm. and its angular measure is 180°. Find the
circumference of the circle.

Q.11 Explain briefly the tests of similarity of triangles.
(A) AAA test (B) SSS test
Q.12 A number is smaller than another number by 7. Find the numbers, if the ratio
of the first with the second is 4:5

Q.13 The sides of a triangular field are 68m, 84m and 40m. What will be cost of
weeding the field at the rate of Rs. 5 per sq.m.?

Q.14 The area of triangle is 84 sq.cm. Find the height of a triangle if its base is 12cm.
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